Standard X RegNo.[ [ [ T-1 1]
ACCOUNTANCY ' |
Time :3.00 firs : _— Part-| . Marks : 90
l.. Choose the correct answer: * = ' _
1. Which of the following is shown in profit and loss a iati 20%3.=20
. ppropriation account?
a) office expenses b) * salary of staff
c) ‘partner’s salary ~d) interest on bank loan
| 2. supreme Ltd., forf.elted 109 shgres of ¥10"each for non-payment of final call of 32 per
share'._AII these shares were reissued at 9 per share. When amount will be transferred
to capital reserve account? i — .‘ '
~.a) 700 b) 2800 . €) TY00 " d) 1,000
3. Contravoucherisusedfor = P g : '
a) Masterentry. - “b) Withdrawal of cash from bank for office use
c) Reports d) Credit purchase of assets o |
4. A Iimiteq company’s sales has i_ncreas_ed from %1,25,000 to 1,50,000. How does this
_ appear in comparative income statement? - e e :
a) . +20% - b) +120% c) ~120% - d) —20%
5. Select the odd one out Y ¢ ’ o E
a) Revaluationprofit 'b): Accumulated loss
c) Goodwill brought by new partners - d) Investment fluctuation fund
6. ‘Which of the following is true? .= - ' : ' :
a) Super profit = Total profit / Number of years . .
b) Super profit = Weighted profit / Number of years
c) Super profit = Average profit — Normal profit
d) Super profit = Average profit x Years of purchase: = e
7. Awasapartnerina partnership firm. He died on 315t March 2019. The final amount due
" “tohimis %25 000 which is not paid immediately. It will be transferred to
a)- A's capital account b) A's current account
c) A’s executor account " d) As executor.loan account
8. Debt equity ratio is a measure of C A P
"~ a) Shortterm solvency . b) Long term _solvency
c) Profitability a d) Efficiency x
‘9. 'Donations received for a specific purpose is | : |
a) Revenue receipt . .. b) papital regieip o B ot
.. ¢) Revenue expenditure ~d) Capital e>fpen'd§ture _
10. Which of the following items relating to bills payable 1S ‘transferred to total creditors
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~account? ¢
" a) Opening balance of bills payable
. b) Closing balance of bills payable

c) Bills payable accepted during the year
d) cash paid for bills payable
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At'the time of admiss; ‘
‘ ion, the Goodwi '

the capital accounts of geilbioyghtty fhe pe parnel ey i
a) all the partners . b) The old partners‘
C) The new pa i
Wi (b forfzit rt:er d) The sacrificing partners :

- ‘ ed shares are reissued, the balance in the forfeited shares account
should be transferred to
:; CSSener.a.I resefve account b) Capital reserve account
e ecurities premium account . d) Surplus account

ich of the following tools of financial statement analysis is suitable when data relating

to several years are to be analysed?

a) Cash flow statement. - ~ b) - Common size statement -
c) . Comparative statement . d) Trend analysis

Which one of the fpllowing is not correctly matched? -

a) Liquid ratio . - - Proportion

b) Gross profit ratio ' - Percentage

c) Fixed asset turnover ratio * =* Percentage

d) Debtequityrato -~ ' - - Proportion

On retirement of a partner, general reserve is transferred to the

a) ‘Capital account of all the partners '

b) Revaluation account - '

c) Capital account of the continuing partners

d) Memorandum revaluation account

The excess of assets over liabilities is ; :

a) Loss ' b) Cash ' ¢) Capital  d) Profit
Which is not the default group in Tally? :

a) Suspense account st
c) Sales account

Which of the following statements is true?
. b) Goodwill is a current asset

 'd) Goodwill cannot be acquired

b) Outstanding expénSes
'd) Investments

c) Goodwill is a fictitious assets
Receipts and payments account is a

a) NominalA/c - :
c) Personal Alc d) Representative personal account

Profit after interest on drawings, interest on capital and remuneration is ¥1,05,000.
Geetha a partner is entitled to receive commiission @ 5% on profit after charging such
n. Find.out communication. - /

commissio :
a) %500 b) %5,000 c) 5,500 d) 31,500

b) Real Alc
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II. Answer any 7 questions. (Q.No.30 is COmpulsory) .
21. State the meaning of not-for-profit organisation, LV

22. What is partnership deed? .
23. State whether the following will be debited or crediteq in th
a) Depreciation on assets b) Unrecorge d |‘e fevaluation account,
c) Provision for outstanding expenses d) Appreciation aviity
24. List the tools of financial statement analysis? —ETON of assets
25. What is Accounting information system?
26. Sunil, Sumathi and Sundari are partners sharing'proﬁt in the

retires and her share is taken up entirely by Sunil. Cajey 5. ratio of 3:3:4. Sundari

the new profit sharing

ratio. . . _
27. From the following details, calculate the missing figure

Particulars : RRIREY R >

Capital és_ori 1st April 2018 | 40,000

Capital as on 31 March 2019 ) | 50,000
Additional capital introduced during theyear - | 7000

Profit for the-year L _— <] 8,000
Drawings during the year ' 2

28. Compute average profit from the following information |
2016 78,000 ; 2017 ¥10,000 ; 2018%9,000 e

29. What is meant by Debt-equity ratio? _ : |
30. Arjun was holding 1,000 equity shares of 10 each of Vanavil Electronics Ltd., issued

~ at par. He paid Z3 on application, %4 an allotment but could not pay the first and final call
of Z3. The directors forfeited the shares for non payment of call money. Give journal .
entry for forfeiture of shares. , _ :
: x Q | Part-1ll - )
lll. ‘Answer any 7 questions. (Q.No.40 is compulsory) S 7x3=21
31. State the difference between Double entry system and Incomplete records. (any three)
32. How will the following items éppear in the final accounts of a club for the year ending
31st March 20172 A club received subscription of 325,000 during the year 2016-17.
. This includes subscription of ¥2,000 for 2015-16 and 71,500 for the year 2017-18.
: Subscription of T500 is still outstanding for the year 2016-17. .
33. Anbuis a partner in a partnership firm. As per the partnership deed, interest on drawing
~ charged at 12% p.a. During the year ended 31% December 2018 he drew as follows.

Date - : 4
March1 .- 6,000
June 1 ' .4,000
~ September1 - . 5,000
December 1. 2,000 .

Calcualte the amount of interest on Drawings by using product metho

-
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34. From the following information relating to a partnership firm, find out the value of its
~ Goodwill based on 3 years purchase of average profit of the last 4 years.
a) Profits of the years 2015, 2016, 2017 and 2018 are 10,000, 12,500, 12,000 and
¥11,500 respectively.
b) The business was looked after by a partner and his fair remuneration amounts to
1,500 per year.
| This- ‘amount was not considered in the calculatlon of the above profits.
35. Ajay and Sai are partners sharing profit and Iosses in the ratio of 5:3. In the view. of
Kumar admlssmn they decided '
a) To increase the value of building by 740,000
b) To brlng into record Investments at ?10 000, WhICh have not so far been brought
* into account. ' '
c) To decrease the value of machlnery by ?14 000 and furniture by %12,000
d) To write off sundry creditors by 216, 000. " . - :
. Prepare Revaluation account.
36. Distinguish betweén sacrifi icing ratio and gaining ratio.
37. Write the Gateway of Tally to view the following.
i) Trial balance i) Ratio analysis iii) Day book
38. Paradise Ltd. , purchased assets of 74,40, 000. From Suguna Furniture Ltd. It, |ssued
equity shares of 10 each fully paid in satlsfactlon of their clalm What entries will be

made if such issue is :

| a) atparand b)at premlum of10%
39. .From the given information, calculate the mventory turnover rat|o and mventory

...~ conversion period (in months) of Sai Ltd.

Particulars B 4
Revenue from operatlon 1,90,000
Inventory at the beginning of the year 40,000
Inventory at the end of the year 120,000
Purchases made during the year ~ 90,000
Carriage inwards . 10,000

) .' . ”‘ p ' [ : ia tate ents'
O- B 'e ly | s ' ) |

estlons 7x5=35

Il the qu
'V A"swer a a eep proper books of accounts Followmg detans are taken from his

'41. a) Rajudoes not k

records. : —
. Particulars 1.1.2018 31.12.2018
- 80,000 90 000
ank - , \
gtaiiitft;oods ‘ 1,80,000 - 1,40,000
0 -
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‘Debtors 90,000 2,00,000
Sundry creditors 1,30,000 1 95.000
Bank loan 60,000 60,000
Bills payable 80,000 45,000
Plant & machinery 1,70,000 1,70,000

During the year he introduced further capital of ¥50,000 and withdrew 22,500 per

m‘onth from the business for his personal use. Prepare statement of profit or loss
with the above information.

(OR)

4 b) Write a brief note on accounting vouchers. (any 5) |
2. a) From the following Receipts and Payments accounts of Tenkasi Thiruvalluvar
Manram. Prepare Income and Expenditure accounts for the year ended 315 March,
2019. » . ‘
Receipts 4 ~ Payments 4
To balance b/d By Salaries 20,000
Cashin hand - 14,000 (By Rent . 24,000
To Interest received * 5,000 [By Travelling expenses - 2,000
To Subscription 55,000 [By Printing and stationery 6,000
To Legacies 48,000 |By Investments made : 50,000
To Entrance fees 7,000 (By Sports equipment purchased 33,000
To Sale of Furniture 16,000 |By Balance c/d. i
(Book value ¥17,000) - Cashinhand - | 10,000
| " | 1,45,000 S - 1,45,000
(OR) |

b)

The following is the balance she

et of James and Justina as .on 1.1.2017. They

On the above data, Balan is admitted as a partner

Following are terms for his admission.

i) - Balan brings 325,000 as capital

share the profits and losses equally. |
Liabilities 4 [d _ Assets 3 d
| capital accounts : Building - | 70,000
James ~ |40,000 . | Stock _, 30,000
Justina : 50,000 90,000 |Debtors . 20,000 .
Creditors 35000 |Bank - 15,000
| Reserve fund 15,000 |Prepaid insurance . 5,000 |-
2 1,40,000 | | | 1,40,000 |
With 1/5 share in future profits.

i) His share of Goodwill is ¥10,000 and bringé cash for it. |
i)y The assets are to be valued as under
- Building 780,000 ; Debtors 18,000 ; Stock ¥33,000.

Prepare necessary ledger accounts and the bal

ance sheet after admission.
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43. a) Nivetha Ltd., forfeited 1,000 equity shares of T10 each for non payment of cal| of 24
per share. Of these 800 share were reissued @ ¥7 per share. Pass journal entries
for forfeiture and reissue.

(OR)
b) Varsha, Shanthiand Madhuri are partners, sharing profits in the ratio of 5:4:3. Their
balance sheet as on 31% December 2017 is as under.
Balance sheet as on 31t December 2017

Liabilities | ¥ 7 Assets 4
Capital accounts: | . Premises 1,20,000
Varsha 80,000 Stock 40,000
Shanthi 60,000 |. Debtors 50,000
~ Madhuri 0,000 1,60,000 | Cash at bank : 18,000
General reserve ~ 48,000 | Profit and Loss A/c :
Sundry creditors . 32,000 (Loss) 12,000
2,40,000 | " ' 2,40,000

s

On 1.1.2018, Madhuri died and on her death the following arrangement are made:
i) Stock to be depreciated by ¥5,000 ‘ -

i) ~Premises is to be appreciated by 20%

iy To provide 4,000 for bad debits.

iv) The final amount due to Madhuri was not paid.

- Prepare revaluation account, partners capital account.
44. a) Fromthe following information, compute the value of Goodwill by capitalising super

profit.
i) Capital employed is ¥4,00,000

i) Normal rate of returnis 10%
jii) Profit for 2016 : 62,000 ; 2017 : 361,000 and 2018 : 363,000

(OR) o
b) From the following statement of profit and loss of Dericston Ltd. Calculate

(i) Gross profit ratio (ii) Net profit ratio
Statement of Profit and Loss

Particulars &
. Revenuefrom operations 24,00,000
. Other income
Income from investment | 70,000
lll.  Total revenues (h+m - | 24,70,000
IV. Expenses :
Purchase of stock in trade .18,80,000
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‘Change in inventories | = 80,000
Employee benefits expense = - 2 90'000
Othe'r expenses \ 1'10'000
Provision for tax ,30'000
Total expenses NS4 22,30,000
V. Profitforthe year = = - | 240,000

45. a) From the following i |
. wing information, prepare capital accounts of ;
D_e“' When their capital are fixed. partners Rooban and

Particulars : Rooban ¥ . Deri ¥
Capital on 1% April, 2018 70,000 50,000
Current account on 1t April 2018 (Cr.) " 25,000 15,000
Additional capital introduced . "~ 18,000 16,000
Drawings during 20182019~~~ | - 10,000 ¥ 6,000
Interest on drawings j yem i 500 - 300
Share.of profit for 2018-2019 L 35,000 25,800
Interest on capital | - 3,500 " 2,500
Salary | . o | NIL. 18,000 .
Commission "~ i E A 42000 | © NL

T (oR)

b) . Ambika, Dharani anhd Padma are partners in a firm sharing profits in the ratio of
'5:3:2. They admit Ramya for 25% proﬁt.' Calculate the new profit sharing ratio and
: _ sacrificing ratio. R © 4 \ : e
46. a) Saranya Ltd., issued 20,000 equity shares of 210 each to the public at par. The
' details of the:amount payable on the shares are as follows |
On application I3 per share = e
On allotment ¥4 per share Sh |
On first and final call T3 per share ,
Application money was received on 30,000 shares. Exc
refunded immediately. Pass journal entries to record the above.
, - (OR) -
m the following details of Rakesh, prepare Trading and Profi

ess application money was

5) Fro tand l__ossaccount .,

for the year ended 31% March 2019 and .a,bélancé sheet as on that date.
Particulars  31.3.2018 ¥ | 31.3.2019¢
" stock of goods I 220000 168(333
Debtors 5,30,000 - 6,:0,000 |
Cash atbank ™ 60,0000 - 80'000
Machinery 807,000 420:000‘
Sundry creditors +3,70,000 S
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Other details
Particulars 4 Particulars T
Rent paid 120000 Cash received from debtors 12,50,000
Discount received 35,000 Drawings 1,00,000
Discount allowed 25000 Cash sales 20,000
Cash paid to creditors  11,00,000 ~ Capital as on.1.4.2018 5,20,000.

47. a) Richard and Rizwan started a bUsiness on 1% January 2018 with capitals of
%3,00,000 and 2,00,000 fespectively. According to the partnership deed.
i) Interest on capital is to be provided @ 6% p.a. "
ii) Rizwan is to get salary of ¥50,000 per annum.
iii) * Richard is to get 10% commission on prof" it (after lnterest on capltal and salary
| to Rizwan) after charging such commission.
iv) Profit-sharing ratio between the two partners is 3:2
During the year, the firm earned a profit of 33,00, 000 Prepare profit and loss
appropriation account. The firm closes its accounts on 31t December every year.
- " (OR) '+ '
b) From the following particulars of Neithal Ltd., calculate trend percentages.

7in lakhs
Particulars _ | 2015-16 2016-17 2017-18
Revenue from operatlons 150 | 135 90
Other income 25 ‘ 5 | 15
Expenses 15 | 75 50
Incometax’ | 40% | - 40% 40%

Tkdkdkdkkk
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